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b. The common stock of X company and Y company have expected returns of 1S%

and 20% respectively, while the standard deviations are 20o/o and 40%. The

expected correlation coeffient between the two stocks is 0.36. Whai is the

expected return and standard deviation of the portfolio consisting of.

i. 40% X and 60% Y.

ii. 60% X and 40% Y.

And comment on it.

(06 Marks)

c. The relevant data regarding security V and W and Security Market (average) are

as follows :

- At the current time the treasury bond yield 10% return.

- The average security has a required rate of return of 147o.

- Beta co - efficient of security

9v =05

Ilw=20
Calculate the following using the above information.

i. Risk Premium - Market (RPM)

ii. Risk premium of security V and W (RPv and RPw)

iii. Required rate of return of security V and W (Kv and Kw)

iv. Required rate of return of Market ((KA or KM)

(07 Marks)

(Total 20 Marks)



05. a. A Multinational Company has a bond issue outstanding. The bond pays Rs. 1OO

annual plus Rs. 1000 at Maturity. The bond has a maturity of .15 years.

i. What will be the value of the bond when the current rate of interest is

a) Boa bl 12o/.

ii. Comment on the Values of bond you have calculated.

(06 Marks)

b. A company's bond has 04 years remaining to maturity. lnterest is p€id annually.

The bond has a 1000/- par value and the coupon inter€st rate is 9%.

i. What is the yield to maturity at the current price of

a) Rs.829

b) Rs. 1104

ii. Would you pay 8291 for one of these bond if you thought that the appropriate

rate of interest was 12%i.eKa= 12%. Explain your answer.

(07 Marks)


